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7= 3.2.13 1990 FEZE 2022 FHERE AR ER RHENE

(B - FRBE_AILRES)

1.A1BERESE 29 32 31 36 39 45 46 51 56 65 73
1.A1a ARHERASERMBEREE 24 28 27 32 34 40 41 46 51 60 67
1.A1.a.i EEMH 23 26 24 28 29 33 32 34 37 39 40
1Al REBRER 1 2 3 4 5 7 9 12 14 21 27
1.A1.aliii. BVEET IR 0 0 0 0 0 0 0 0 0 0 0
1.A1.b. AiHRE 4 3 3 3 4 4 4 4 4 4 5
1.A1.c. ERSEAR B S B EthAE R AE 2 1 1 1 1 1 1 1 1 1 1 1
1.A1.c.i. EIRSMAR BYE % 1 1 1 1 1 1 1 1 1 1 1
1.A1.cii. HfthgERESE 0 0 0 0 0 0 0 0 0 0 0

i 22 SR AR B EUR IR UR B £5 B

1.A1 BERESE 78 77 87 90 93 98 100 98 91 96 97
1.A1a AREBEREBRERMEREE 72 71 81 84 86 90 93 91 85 89 91
1.A1.a.i BEERK 38 37 38 37 39 43 43 42 37 42 42
1.A1.aii. BEHAER 33 34 43 46 46 47 50 49 48 48 48
1.A1.a.ii. BVBET R 0 0 0 0 0 0 0 0 0 0 0
1.A1.b. BiHRE 5 5 5 5 7 7 7 5 6 5 5
1.A1.c. Bkl S B HAhBER A 2 1 1 1 1 1 1 1 1 1 1 1
1.A1.c.i. EFEARBLE% 1 1 1 1 1 1 1 1 1 1 1
1.A1.c.ii. EfthAEREZE 0 0 0 0 0 0 0 0 0 0 0

i = R A B FUR IR UR B 5 B

1.A1 BERES 96 95 98 102 103 1051  104.6 101 100 103 102
1.A1a AFRHERASERABEREE 90 89 91 95 96 99 98 94 94 97 95
1.A1.a.i EER 41 40 42 46 48 52 48 45 45 48 48
1.A1alil. SREHRER 48 49 49 49 48 47 50 49 49 49 47
1.A1.a.iii. VBET R 0 0 0 0 0 0 0 0 0 0 0
1.A1.b. AiHRE 5 5 5 5 5 5 5 5 5 5 5
1.A1.c. ERSR 2 B E th AR E 2 1 1 1 1 1 1 1 1 1 1 1
1.A1.c.i. BRI BEE 1 1 1 1 1 1 1 1 1 1 1
1.A1.cii. EfthBEREE 0 0 0 0 0 0 0 0 0 0 0




